Day 2 - Polynomials continued (after).notebook March 30, 2017

Wamly S

1. (x+4)(x-2)

2. (5a°b°c)(10a'b*)(2a’b'c?)
3. -3m’n*(9m*-6n°+2)

4. (2x-1)(3x+2)

5. (3x-2y)(x+4y)
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S +4)(x-2

= x* -2x +4x - 8
= x> +2x - 8
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; 3. }E, -3m’n*(9m>-6n"+2)
2ol
= 27m'n* +18m°n” -6m>n~*
OR
-27m7 +18ms -6m>3
n4 n® n4
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= 3x” +12xy -2xy -8y

= 3x°+10xy -8y~
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(5x-3)°
(5x-3)(5x-3)
25%*-15%x-15%+9
25%x2-30x+9
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Simplify: e ReFeHe e
-2(3x-1 )(2x+2)
6@3}
-

S - vUx Y
- \)k"(3 = —kL\
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Try_hislt
5(2x-1)(3x+4)
TR

20 +40x ~19% - 30
205+ 5% -0

Remember,
multiply the
brackets first!
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5(2x-1)(3x+4)
5(6x%+8x-3x-4)
5(6x%+5x-4)
30x°+25x-20
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%q S +05(3 +\ox -4
X 4SC+ \Sx <4

13



Day 2 - Polynomials continued (after).notebook

-
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6 (2k+ 307k +7)
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14) (66 - 5)(8h - 4}

16) (35 - 2)5x + 4)
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